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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V ijh{kk&2025 

( Annual / okf"kZd )  
ACCOUNTANCY ( ELECTIVE ) 

लेखाशाèğ ( ऐिÍछक ) 

I.Com. 

 
dqy ç”u    % 100+30+8=138 

Total Questions: 100+30+8=138 
( le; : 3 ?kaVs 15 feuV )         ( iw.kkZad :100 )   
[Time : 3 Hours 15 Minutes]              [Full Marks:100]      

 

ijh{kkfFkZ;ksa ds fy, funsZ'k%  

Instructions for the candidates: 

1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 
fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 
practicable. 

 

3. nkfguh vksj gkf”k;s ij fn;s gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 
 

4. ç'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 
x;k gSA 
15 minutes of extra time have been allotted for the candidates to read the 
questions carefully. 

 

5. ;g ç'u iqfLrdk nks [k.Mksa esa foHkkftr gS – [k.M&v vkSj [k.M&cA 
This Question booklet is divided into two sections-Section-A and Section-B. 
 

6. [kaM&v esa 100 oLrqfu"B ç'u gSa] ftuesa ls dsoy 50 ç'uksa dk gh mÙkj nsuk vfuok;Z 
gSA ;fn 50 Á”uksa ls vf/kd dk mÙkj nsus ij ÁFke 50 ç'uksa dk gh ewY;kadu gksxkA 

fo"k;     : 220 
Subject Code: 220 
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çR;sd ç'u ds fy, 1 vad fu/kkZfjr gSA budk lgh mÙkj dks miyC/k djk;s x;s mÙkj 
i=d esa fn;s x;s lgh fodYi dks uhys@dkys c‚y isu ls izxk<+ djsaA fdlh Hkh çdkj 
ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk ç;ksx djuk euk gS] vU;Fkk ijh{kk 
ifj.kke vekU; gksxkA 

 

In section A there are 100 objective type questions out of which only 50 
questions are to be answered. If more than 50 questions are answered, then 
only first 50 questions will be evaluated. Each question carries one mark. For 
answering these darken the circle with blue/black ball pen against the correct 
option on the OMR Answer Sheet provided to you. Do not use 
whitener/liquid/blade nail etc. on OMR Answer sheet /otherwise the result will 
be treated invalid. 

 

7. [kaM&c esa] 30 y?kq mÙkjh; ç'u gSaA ftuesa ls çR;sd esa 2 vad fu/kkZfjr gSa] ftuesa ls 
fdlh Hkh 15 ç'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 8 nh?kZ 
mÙkjh; ç'u fn;s x;s gSa] ftuesa ls fdUgha 4 ç'uksa dk mÙkj nsuk gSA çR;sd ç”u ds 
fy, 5 vad fu/kkZfjr gSA 

 

In section B, there are 30 sheet answer type questions, each carrying 2 marks, 
out of which any 15 questions are to be answered. Apart from this, there are 8 
long answer type questions, each carrying 5 marks, out of which any 4 
questions are to be answered. 

 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 
Use of any electronic appliances is strictly prohibited. 
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[k. M & v / SECTION-A 
oLrqfu"B ç'u / Objective Type Questions 

 
ç'u la[;k 1 ls 100 rd ds ç’u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d lgh 

gSA fdUgha 50 ç'uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹  'khV ij 

fpfºur djsaA                   𝟓𝟎 × 𝟏 = 𝟓𝟎 

Questions nos. 1 to 100 have four options, out of which only one is correct. 

Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet.            50 × 1 = 50 

1. O;; ij vk; dk vf/kd gksrk gS  

(A) gkfu  (B) vkf/kD; 
(C) udn  (D) i¡wath  

Excess of income over expenses is 

(A)  Loss  (B) Surplus  
(C) Cash  (D) Capital  

2. fuEufyf[kr esa ls dkSu çkfIr ,oa Hkqxrku [kkrs dh fo'ks"krk gS\ 

(A) miktZu vk/kkj  (B) udn vk/kkj  

(C) MsfcV vk/kkj  (D) ØsfMV vk/kkj  

Which of the following is a feature of Receipt and Payment A/C?  

(A) Accrual basis  (B) Cash basis  

(C) Debit basis (D)  Credit basis  

3. laLFkk dks çkIr olh;r gksrh gS  

(A) vkxe çkfIr  (B) iwa¡thxr çkfIr  

(C) vk;  (D) O;; 

A Legacy received by an organisation is a:  

(A) Revenue receipt (B) Capital receipt  
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(C) Income  (D) Expense 

4. lky ds var esa [ksy ds cps gq, lkeku ds ewY; dks fpV~Bs esaa fdl :i esa fn[kk;k 

tkrk gS \ 

(A) vk;  (B) O;; 

(C) laifÙk (D) nkf;Ro 

The price of balance of sports equipments at the end of the year is shown in 

the balance sheet as 

(A) Income  (B) Expense   

(C) Asset  (D) Liability  

5. fuEufyf[kr esa ls fdldks vk;&O;; [kkrs esa ugha fn[kk;k tkrk gS\  

(A) ºkzl  (B) fo'ks"k mís'; ds fy, nku  

(C) osru  (D) pank  

Which of the following is not shown in the Income and Expenditure A/C 

(A) Depreciation    (B) Donation for specific purpose 

(C) Salaries    (D) Subscription  

6. Hkou ds fy, çkIr nku dks n”kkZ;k tk,xk  

(A) vk; esa  (B) nkf;Ro esa  

(C) laifÙk esa  (D) [kpZ esa  

The donation received for building will be shown as: 

(A) Income (B) Liability 

(C) Assets (D) Expense 

7. vkthou lnL;rk 'kqYd dks n'kkZ;k tk,xk% 

(A) vkxe çkfIr dh rjg  (B) iw¡athxr çkfIr dh rjg  

(C) _.k dh rjg  (D) nkf;Ro dh rjg  

Life Membership fee will be shown as: 
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(A) Revenue Receipt  (B) Capital Receipt 

(C) Loan (D) Liability    

8. fuEu esa ls dkSu ,d vkSj xSj&ykHkdkjh laLFkk ds fy, v–'; laifÙk gS  

(A) Hkou  (B) isVsaV  

(C) QuhZpj  (D) udn  

Which of the following is an intangible asset for an Not- for profit 

organisation? 

(A) Building (B) Patents  

(C) Furniture (D) Cash 

9. fofu;ksx ij çkIr vk, gS%  

(A) vk;  (B) laifÙk  

(C) O;;  (D) buesa ls dksbZ ugha  

Income received from an investment is a/an: 

(A) Income (B) Asset 

(C) Expense (D) None of these 

10. iwa¡th dks"k dks tkuk tkrk gS  

(A) lap; dks’k  (B) lkekU; dks’k  

(C) vkdfLed dks’k (D) +_.k dks’k  

The capital fund is also known as: 

(A) Reserve Fund (B) General Fund 

(C) Contingency Fund (D) Loan Fund 

11. pkyw o"kZ ds nkSjku çkIr vfxze pans gSa  

(A) vk;  (B) laifÙk  

(C) nkf;Ro  (D) mijksä lHkh  

Subscriptions received in advance during the current year is: 
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(A)  Income (B) Asset 

(C) Liability (D) All of the above 

12. fuEufyf[kr esa ls dkSu vykHkdkjh laxBu ugha gS\  

(A) fo|ky;  (B) vLirky  

(C) Dyc  (D) lk>snkjh QeZ  

Which of the following is not a not-for profit organisation? 

(A) School (B) Hospital 

(C) Club (D) Partnership Firm  

13. ykHk u dekus ds fy, LFkkfir laLFkk,a rS;kj djrh gS  

(A) O;kikfjd [kkrk  (B) ykHk&gkfu [kkrk  

(C)  vk;&O;; [kkrk  (D) vk;xr [kkrk  

Not for profit organisation prepare: 

(A) Trading A/C (B)   Profit and Loss A/C 

(C) Income and Expenditure A/C    (D)  Revenue A/C 

14. lk>snkj }kjk QeZ dks fn, x, _.k ij C;kt feyrk gS%  

(A) 6% (B) 4% 

(C) 8% (D) 10% 

Partner who have advanced loan to the firm receive interest:  

(A) 6% (B) 4% 

(C) 8% (D) 10% 

15. pkyw [kkrk gS  

(A) O;fäxr [kkrk  (B) okLrfod [kkrk  

(C) ukeek= [kkrk  (D) buesa ls dksbZ ugha 

Current Account is: 

(A) Personal A/C (B) Real A/C 

(C) Nominal A/C (D) None of these  
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16. lk>snkj ds iwa¡th [kkrs ds çkjafHkd 'ks"k dks ØsfMV fd;k tkrk gSA  

(A) iwa¡th ij C;kt  (B) vkgj.k ij C;kt  

(C) vkgj.k  (D) gkfu esa fgLlk 

The opening balance of Partner’s Capital A/C is credited with : 

(A) Interest on Capital (B) Interest on Drawings 

(C) Drawings (D) Share in Loss 

 

17. lk>snkj ds vkgj.k ij C;kt ds fy, MsfcV fd;k tkrk gS%  

(A) lk>snkjksa ds iwa¡th [kkrs  (B) ykHk& gkfu [kkrs dks  

(C) vkgj.k [kkrs dks  (D) buesa ls dksbZ ugha  

The interest on partner drawing is debited to: 

(A) Partner’s Capital A/C (B) Profit and Loss A/C 

(C) Drawing A/C (D) None of these 

18. fuEufyf[kr esa ls dkSu ifjorZu'khy iwa¡th esa tksM+k tkrk gS\ 

(A) ykHk  (B) gkfu  

(C) fudklh  (D) mijksDr lHkh  

Which of the following is added to the fluctuating capital? 

(A) Profit (B) Loss 

(C) Drawings (D) All of the above 

19. ykHk&gkfu fu;kstu [kkrk cuk;k tkrk gS%  

(A)   lap; dks"k cukus ds fy,  (B)    'kq) ykHk fudkyus ds fy,  

(C)   foHkkT; ykHk fudkyus ds fy,  (D)    buesa ls dksbZ ugha  

Profit and Loss Appropriation A/C is prepared to: 

(A) Create Reserve Fund (B)   Find out Net Profit 

(C) Find out Divisible Profit      (D)   None of these  
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20. lk>snkjksa ds }kjk QeZ dks fn, x, vfxze ij C;kt gS%  

(A) fofu;kstu  (B) ykHk  

(C) çHkkj  (D) gkfu  

Interest on advance given to the firm by partner is: 

(A) An Appropriation (B) A Gain 

(C) A Charge (D)  None of these 

21. lk>snkj dk pkyw [kkrk cuk;k tkrk gS tc lk>snkj dh iwa¡th j[kh tkrh gS  

(A) ifjorZu'khy vk/kkj ij  (B) LFkkbZ vk/kkj ij  

(C) (A) rFkk (B) nksuksa  (D) buesa ls dksbZ ugha  

Partner’s Current Account is prepared when capital of partner is maintained 

under: 

(A)  Fluctuating Basis (B) Fixed Basis 

(C) Both (A) and (B) (D) None of these 

22. foxr~ rhu o"kksaZ ds ykHk gSa% ₹ 42,000, ₹ 39,000 rFkk ₹ 45,000A vkSlr ykHkksa ds nks 

o’kksZa ds Ø; ij [;kfr dk ewY; gksxkA 

(A) ₹ 42,000 (B)  ₹84,000 

(C)  ₹ 1,26,000 (D)  ₹ 36,000 

The profit of last three years are ₹ 42,000, ₹ 39,000 and ₹ 45,000 value of 

goodwill at two years purchases of the average profit will be: 

(A)  ₹ 42,000 (B)  ₹84,000 

(C)  ₹ 1,26,000 (D)  ₹ 36,000 

23. [;kfr dh x.kuk dh tkrh gS tc  

(A)  lk>snkj QeZ esa ços'k djrk gS     (B) lk>snkj vodk'k xzg.k djrk gS  

(C) lk>snkj dh e`R;q gks tkrh gS     (D) buesa ls lHkh  

Goodwill is valuated when: 

(A) New Partner enters in the firm   (B)  Partner retires 
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(C)   Partner dies      (D)  All of these 

24. ,d O;olk; esa fofu;ksftr iw¡ath ₹1,50,000; ykHk ₹50,000 vkSj lkekU; ykHk 

dh nj 20% A iw¡thdj.k fof/k ls [;kfr dh jkf'k gksxh% 

(A) ₹2,00,000 (B) ₹1,50,000 

(C) ₹3,00,000 (D) ₹1,00,000   

Capital employed in a business is ₹ 1,50,000; profit ₹ 50,000 and the normal 

rate of profit is 20%. The amount of goodwill as per capitalisation method 

will be: 

(A) ₹ 2,00,000 (B) ₹ 1,50,000 

(C) ₹ 3,00,000 (D) ₹ 1,00,000 

25.  [;kfr dh mRifÙk gksrh gS  

(A) O;olk; ls  (B) mRikn ls 

(C) Lokeh ls  (D) buesa ls dksbZ ugha  

Goodwill emerges out of : 

(A) Business (B) Product 

(C) Owner (D) None of these 

26. O;olk; dk vkSlr ykHk ₹30,000, Ø; o"kZ 2] rks [;kfr gksxh%  

(A) ₹15,000 (B) ₹80,000 

(C) ₹60,000 (D) buesa ls dksbZ ugha  

Average profit of business is ₹ 30,000, purchase year 2, goodwill will be: 

(A) ₹15,000 (B) ₹80,000 

(C) ₹60,000 (D) None of these 

27. lk>snkjh le>kSrs esa ifjorZu ls%  

(A) lk>snkjksa ds e/; laca/k cny tkrs gSa  

(B) lk>snkjh dk var gks tkrk gS  

(C)   lk>snkjh QeZ dk fo?kVu gks tkrk gS  
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(D)  buesa ls dksbZ ugha 

Change in the partnership agreement 

(A) Change the Relationship among the partners  

(B) Result in the end of Partnership 

(C) Dissolves the Partnership   

(D) None of these  

28. ykHk&çkfIr vuqikr%  

(A) u;k vuqikr & iqjkuk vuqikr  

(B) iqjkuk vuqikr & R;kx vuqikr  

(C) u;k vuqikr & R;kx vuqikr  

(D) iqjkuk vuqikr & u;k vuqikr  

Gaining Ratio: 

(A) New Ratio – Old Ratio 

(B) Old Ratio – Sacrificing Ratio 

(C) New Ratio – Sacrificing Ratio 

(D) Old Ratio – New Ratio 

29. iquZewY;kadu [kkrk gS% 

(A) O;fäxr [kkrk  (B) okLrfod [kkrk  

(C) ukeek= [kkrk   (D) buesa ls dksbZ ugha  

Revaluation Account is a: 

(A) Personal A/C (B) Real A/C 

(C) Nominal A/C (D) None of these 

30. lk>snkjh ds ços'k ij iqjkus fpV~Bsa esa n'kkZ;sa x, lap; gLrkarfjr djsaxs% 

(A) lHkh lk>snkjksa dh iwa¡th [kkrs esa (B) u, lk>snkjksa ds iwa¡th [kkrs esa  

(C)  iqjkus lk>snkjksa dh iwa¡th [kkrs esa     (D)  mijksä lHkh  
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At the time of admission of a partner, General Reserve appearing in the old 

balance sheet is transferred to: 

(A) All Partner’s Capital A/C     (B) New Partner’s Capital A/C 

(C)         Old Partner’s Capital A/C     (D) All of the above 

31. iquZewY;kadu ij ykHk ;k gkfu dks ogu djrs gSa  

(A) iqjkus lk>snkj (B) u, lk>snkj  

(C) lHkh lk>snkj  (D) dsoy nks lk>snkj 

Profit or loss on revaluation is bear by: 

(A) Old Partner (B) New Partner 

(C) All Partners (D) Only two Partners 

32. A vkSj B lk>snkj gSa A C dks 
ଵ

ହ
 Hkkx esa 'kkfey fd;k tkrk gSA C vius Hkkx ds 

fy, ₹ 1,20,000 iw¡ath ds :i esa ykrk gSA QeZ dk “kq) ewY; gS 

(A) ₹1,00,000 (B) ₹4,00,000 

(C) ₹1,20,000 (D) ₹6,00,000 

A and B are partners. C is admitted with 
ଵ

ହ
 shares. C brings ₹1,20,000 as his 

share towards capitals. The total net worth of the firm is: 

(A) ₹1,00,000 (B) ₹4,00,000 

(C) ₹1,20,000 (D) ₹6,00,000 

 

33. fdlh u, lk>snkj ços'k ij ifjlaifÙk;ksa esa gqbZ o`f) dks fdl [kkrs esa MsfcV fd;k 

tk,xk\ 

(A) iquewZY;kadu [kkrk  (B) laifÙk [kkrk  

(C) iqjkus lk>snkjksa dks [kkrk  (D) u, lk>snkj dk [kkrk  

On the Admission of a new partner, increase in the value of asset is debited 
to which account? 

(A) Revaluation Account (B)   Asset Account 

(C) Old Partners Capital Account     (D)   New Partner Account 
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34.  A] B vkSj C ,d QeZ esa lk>snkj gS ;fn D u, lk>snkj ds #i esa ços'k djrk gS] 

rks  

(A) iqjkuh QeZ dk fo?kVu gksxk    

(B) iqjkuh QeZ rFkk iqjkuh lk>snkjh dk fo?kVu gksxk  

(C) iqjkuh lk>snkjh iquxZfBr gksxk  

(D) buesa ls dksbZ ugha 

A, B and C are partners in a firm. If D is admitted as a new partner, then 

(A) Old firm is dissolved  

(B) Old firm and old partnership are dissolved 

(C) Old partnership is reconstituted  

(D) None of these 

35. ikus okyk lk>snkj dk ykHk vkSj gkfu lk>kdj.k vuqikr% 

(A)  c<+rk gS   (B) ?kVrk gS  

(C) cjkcj jgrk gS   (D) (A) vkSj (C) nksuksa 

Profit and loss sharing ratio of receiving partner: 

(A) Increases (B) Decreases 

(C) Remains Equal (D) Both (A) and (B) 

36. lk>snkj ds iwa¡th [kkrsa dks ØsfMV fd;k tkrk gS  

(A)  iwa¡th ij C;kt ls  (B) vkgj.k ij C;kt ls  

(C) vkgj.k ls  (D) gkfu esa fgLlk ls  

The Partner’s Capital Account is credited with: 

(A) Interest on capital  (B) Interest on drawings  

(C) Drawings (D) Share in Loss 

37. R;kx vuqikr fudkyk tkrk gS  

(A) lk>snkj dh e`R;q ij  

(B) ,d lk>snkj ds vodk'k xzg.k djus ij  
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(C) ,d lk>snkj ds ços'k ij  

(D) buesa ls dksbZ ugha  

Sacrificing ratio is ascertained at the time of : 

(A) Death of a partner  (B) Retirement of a partner 

(C) Admission of a partner  (D) None of these 

38. LFkkbZ laifÙk;ksa ds ewY; esa deh dgykrh gS  

(A) O;; (B) gzkl 

(C) ykHk  (D) buesa ls dksbZ ugha  

Decrease in the value of fixed asset is known as: 

(A) Expense (B) Depreciation 

(C) Profit (D) None of these 

 

39. ,d lk>snkj dh vodk'k xzg.k djus ds le;] lHkh lk>snkjksa ds fy, fd, x, QeZ 

dh la;qä thou chek i‚fylh ds fo#) QeZ dks chek daiuh ls çkIr gksrk gS%  

(A) i‚fylh jkf”k$+cksul jkf'k  (B) leiZu ewY;  

(C) i‚fylh jkf'k  (D) mi;Zqä lHkh  

At the time of retirement of a partner, firm gets from the insurance company 
against Joint Life Policy taken jointly for all the partners: 

(A)  Policy Amount+ Bonus Amount            (B)  Surrender Value    

(C)   Policy Amount                 (D)  All of the above 

40. ;fn vodk'k xzg.k djus okys lk>snkj dks vodk'k xzg.k djus ij mldks ns; jkf'k 

dk iw.kZ Hkqxrku ugha fd;k tkrk gS rks 'ks"k gLrkarfjr fd;k tkrk gS%  

(A) _.k [kkrs esa  (B) iwa¡th [kkrs esa  

(C) cSad [kkrs esa  (D) mpUr [kkrs esa  

If retiring partner is not paid in full amount due to his retirement then 
balance is transferred to: 



 

Page 14 of 36 
 

(A) Loan A/C (B) Capital A/C 
(C) Bank A/C (D) Suspense A/C 

41. QeZ }kjk çkIr la;qä chek i‚fylh dh jkf'k ck¡aVh tkrh gS%  

(A) çkjafHkd iwa¡th vuqikr esa  (B) vafre iwa¡th vuqikr esa  

(C) iqjkus ykHk&foHkktu vuqikr esa      (D)  u, ykHk&foHkktu vuqikr esa  

Joint Life Policy amount received by a firm is distributed in: 

(A) Opening Capital Ratio (B) Closing Capital Ratio 

(C) Old Profit sharing Ratio (D)    New Profit sharing Ration 

42. fdlh lk>snkj dh eR̀;q ij laifÙk;ksa ds iquZewY;kadu ds ykHk dks fdlds iwa¡th    

[kkrs esa tek fd;k tkrk gS\  

(A) e`rd lk>snkj ds  (B) lHkh lk>snkjksa ds 

(C) ckdh lk>snkjksa ds  (D) ek=k nks lk>snkjksa ds  

On the death of a partner the profit on revaluation is transferred to capital 

A/C of: 

(A) Deceased partner (B) All partners 

(C) Remaining partners (D) Only two partners  

43. e`rd lk>snkj ds fu"iknd dks lk>snkj dh eR̀;q dh frfFk ls ns; jkf'k ij C;kt  

fn;k tk,xk  

(A) 5% okf"kZd  (B) 6% okf"kZd  

(C) 7% okf"kZd  (D) 8% okf"kZd 

The executor of deceased partner will be paid interest on the amount due 

from the date of death of the partner at: 

(A) 5% p.a (B) 6% p.a 

(C) 7% p.a (D) 8% p.a 

44. ;fn lekiu ds le; laifÙk;ksa ds laca/k esa dksbZ fo'ks"k lwpuk u nh xbZ gks rks% 

(A)  Hkqxrku ugha gksxk  (B) iw.kZ Hkqxrku gksxk  
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(C) vkaf'kd Hkqxrku gksxk  (D) buesa ls dksbZ ugha  

If at the time of dissolution nothing is said about assets, then 

(A) Never paid (B) Fully paid 

(C) Partly paid (D) None of these 

45. vkfFkZd fpës dk 'ks"k QeZ ds lekiu ds le; fn[kk;k tkrk gS% 

(A) olwyh [kkrs esa  (B) jksdM+ [kkrs esa  

(C) iwa¡th [kkrs esa  (D) iquZewY;kadu [kkrs esa 

Cash balance in a balance sheet is shown on dissolution of a firm in: 

(A) Realisation A/C (B) Cash A/C 

(C) Capital A/C (D) Revaluation A/C  

46. QeZ ds lekiu ij gksus okys O;; dks dgrs gSa  

(A) olwyh O;; (B) dkuwuh O;;  

(C) vk;xr O;; (D) iwa¡thxr O;;  

Expenses on dissolution of firm is called: 

(A) Realisation Expense (B) Legal Expense 

(C) Revenue Expense  (D) Capital Expenditure 

47. QeZ ds fo?kVu ds le; lk>snkjksa dh iwa¡th [kkrksa dh ØsfMV 'ks"k dk Hkqxrku fd;k 

tkrk gS% 

(A) lk>snkjksa dks  (B) QeZ dks  

(C) iRuh dks  (D) buesa ls dksbZ ugha  

Payment of credit balance of Partner’s Capital Account at the time of 

dissolution of a firm is made to : 

(A) Partners  (B) Firm 

(C) Wife (D) None of these 

48. lk>snkjksa dk fnokfy;k gksuk fdl çdkj dk lekiu gS\ 
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(A) vfuok;Z lekiu (B) la;ksx lekiu  

(C) U;k;ky; }kjk lekiu  (D) buesa ls dksbZ ugha  

Insolvency of a partner is which type of dissolution? 

(A) Compulsory dissolution  (B)  Dissolution by incidence 

(C)  Dissolution by court   (D)  None of these 

49. olwyh ds ykHk gkfu dks lk>snkjksa esa ck¡Vk tkrk gS%  

(A) cjkcj vuqikr esa  (B) iwa¡th vuqikr esa  

(C) ykHk&gkfu vuqikr esa  (D) buesa ls dksbZ ugha  

The profit and loss of realisation account is shared by partners in: 

(A) Equal profit ratio (B) In capital ratio 

(C) Proft and loss ratio (D) None of these 

50. olwyh [kkrk gS  

(A) O;fDrxr [kkrk  (B) ukeek= [kkrk  

(C) okLrfod [kkrk  (D) mpafr [kkrk 

Realisation Account is a: 

(A) Personal A/C (B) Nominal A/C 

(C) Real A/C (D) Suspense A/C 

51. daiuh dk mnkgj.k gS% 

(A) jkgqy cznlZ  (B) Hkkjr ,aM lal  

(C) VkVk eksVlZ  (D) fnYyh fo'ofo|ky;  

Example of a company is: 

(A)  Rahul Brothers (B) Bharat & Sons 

(C) Tata Motors (D) Delhi University 

52. va'kksa ds fuxZeu ls iwoZ dkSu&lk fooj.k tkjh fd;k tkrk gS\  

(A) izfooj.k  (B) ik"kZn varfuZ;e  
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(C) ik"kZn lhek fu;e  (D) buesa ls lHkh  

Which statement is issued before the issue of shares? 

(A) Prospectus  (B) Article of Association 

(C) Memorandum of Association     (D)         All of these 

53. vf/kdkj va'k os gS ftUgsa%  

(A) daiuh ds funs'kdksa dks mudh lsok ds cnys fuxZfer fd;k tkrk gS  

(B) daiuh ds orZeku va'k/kkjdksa dks fuxZfer fd;k tkrk gS  

(C) daiuh ds izorZdksa dks mudh lsok ds cnys fuxZfer fd;k tkrk gS  

(D) laifÙk [kjhnus ds fy, foØsrkvksa dks fuxZfer fd;k tkrk gS  

Right shares are those shares which are : 

(A) issued to the director of the company  

(B) issued to the existing shareholders of the company 

(C) issued to promoters in consideration of their services  

(D) issued to the vendors for purchasing assets  

 

54. ,d ubZ daiuh vius va'kksa dk fuxZeu ugha dj ldrh gS%  

(A) dVkSrh ij  (B) vf/kewY; ij  

(C) leewY; ij  (D) vafdr ewY; ij  

A new company cannot issue its shares at : 

(A) Discount (B) Premium 

(C) Par (D) Face value 

55. va'kksa ds gj.k ds ifj.kke Lo#i ?kV tkrh gS  

(A) pqdrk iwa¡th  (B) vf/k—r iwa¡th  

(C) LFkkbZ laifÙk  (D) vkjf{kr iwa¡th  

Forfeiture of shares result in the reduction of : 
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(A) Paid-Up Capital  (B) Authorised Capital 

(C) Fixed Asset (D) Reserve Capital 

  

56. vnŸk ;kpuk ij vf/kdre C;kt fy;k tk ldrk gS% 

(A) 6% çfro"kZ  (B) 10% çfro"kZ  

(C) 5%  çfro"kZ  (D) 12% çfro"kZ  

Interest an calls-in-arrear can be charged maximum at:  

(A) 6% p.a (B) 10% p.a 

(C) 5% p.a (D) 12 % p.a 

57. ,d futh daiuh esa lnL;ksa dh vf/kdre la[;k gksrh gS%  

(A)    7 (B)   200 

(C)   50 (D)   dksbZ lhek ugha  

Maximum number of members in a private company is: 

(A) 7 (B) 200 

(C) 50 (D) No limit 

58. va'kksa ds fuxZeu ij vf/kykHk dk mi;ksx fd;k tk ldrk gS%  

(A) cksul va'kksa ds fuxZeu ds fy,  (B)  ykHk ds forj.k ds fy,  

(C)  _.k pqdkus ds fy,    (D)  buesa ls dksbZ ugha  

Premium on issue of shares can be used for: 

(A) Issue of bonus shares (B) Distribution of profit 

(C) Payment of loan (D) None of these 

59. ;fn ₹ 10 okyk va'k ftl ij ₹ 8 ;kfpr gS vkSj ₹6 nŸk gS] tCr dj fy;k tkrk 

gS] rks va'k iwa¡th [kkrk dks MsfcV fd;k tkuk pkfg,% 

(A) ₹8 ls  (B) ₹10 ls  

(C) ₹6 ls (D) ₹2  ls 
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If a share of ₹ 10 on which ₹ 8 has been called and ₹ 6 is paid, forfeited, then 
the share capital account should be debited with: 

(A) ₹8 (B) ₹10 

(C) ₹6 (D) ₹2 

60. Hkkjrh; daiuh vf/kfu;e] 2013 ds vuqlkj daiuh dk vkfFkZd fpëk cuk;k tkrk gS  

(A) vuqlwfpr 𝐼𝐼𝐼 Hkkx 𝐼𝐼  (B) vuqlwph 𝐼𝐼𝐼 Hkkx 𝐼  

(C) vuqlwph 𝑉𝐼 Hkkx 𝐼𝐼  (D) vuqlwph 𝑉𝐼 Hkkx 𝐼  

According to the Indian Companies Act, 2013 Balance sheet of a company is 

prepared as per:  

(A) Part- II of Schedule III (B) Part- I of Schedule III 

(C) Part- II of Schedule VI (D)  Part- I of Schedule VI 

61. lsch ds vuqlkj] U;wure vfHknku va'kksa ds vkoaVu ds igys fuxZfer va'kksa dk fdruk 

çfr'kr vo'; gksuk pkfg,\  

(A) 100 %  (B)  90%  

(C)  25%  (D)  50%  

According to the SEBI, minimum subscription must be at least how much 

percent of shares issed before allotment of shares: 

(A) 100 %  (B)  90%  

(C)  

(D) 25%  (E)  50%  

62. va'kksa dk fuxZeu fd;k tk ldrk gS%  

(A) leewY; ij  (B) vf/kewY; ij  
(C) cV~Vs ij  (D) mijksä lHkh  

Shares may be issued at  

(A)  Par value (B)  Premium 
(C) A discount (D) All of the above 

63. _.k i=ksa ds fuxZeu ij dVkSrh ;k gkfu dks fn[kk;k tkrk gS  
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(A) çfrHkwfr çhfe;e lap;u ls ?kVkdj  

(B) fpësa ds laifÙk i{k esa  

(C) ykHk&gkfu [kkrs ds ØsfMV esa  

(D) olwyh [kkrk esa  

Discount or loss on issue of debentures is shown as/in: 

(A) After deduction from Securities Premium Reserve 

(B) Asset side of Balance sheet  

(C)  Cr. side of P & L A/C 

(D) Realisation A/C 

64. _.ki=/kkjh çkIr djrs gSa  

(A) ykHkka'k  (B) ykHk  

(C) C;kt  (D) cksul  

Debenture holder gets: 

(A) Dividend (B) Profit 

(C) Interest (D) Bonus 

 

65. daiuh ds fy, vf/kewY; ij _.ki=ksa dk fuxZeu gS%  

(A) vk;xr çkfIr  (B) ykHk  

(C) iwa¡thxr ykHk  (D) laifÙk  

Premium on issue of debenture for a company is a: 

(A) Revenue Receipt (B) Profit 

(C) Capital Gain  (D) Asset 

66. _.ki= dh fo'ks"krk gS%  

(A) fuf'pr C;kt  (B) nh?kZdkyhu  

(C) 'kks/ku  (D) buesa ls lHkh  

Characteristic(s) of debenture is/are: 
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(A) Fixed interest (B) Long term 
(C) Redemption (D) All of these  

67. _.ki= tks fd ek= lqiqnZ dj nsus ij gLrkarfjr gks tkrs gSa] dgs tkrs gSa  

(A) iath—r _.ki=  (B) çFke _.ki=  

(C) okgd _.ki=  (D) buesa ls dksbZ ugha  

Debentures which are transferred by merely delivery is called: 

(A) Registered Debenture (B) First Debenture 

(C) Bearer Debenture  (D) None of these 

68. ftu _.ki= ds /kkjdksa dks ;g vf/kdkj gksrk gS fd os pkgas rks ,d fuf'pr le; 

ds ckn vius _.ki=ksa dks fu/kkZfjr 'krksaZ ds vuqlkj va'kksa esa ifjofrZr dj ldrs gSa] 

,sls _.ki=ksa dks dgrs gSa%  

(A) “kks/; _.ki=  (B) v“kks/; _.ki=  

(C) ifjorZu'khy _.ki=  (D) okgd _.ki=  

The holder of debenture who have the right to convert their debentures into 

shares after a specific period as per the terms at their option, such as 

debentures are called : -  

(A) Redeemable Debentures  (B)  Irredeemable Debentures 

(C)  Convertible Debentures  (D)  Bearer Debentures   

69. _.ki=ksa dh fuxZeu dk mís'; gksrk gS%  

(A) ubZ ifj;kstukvksa esa fuos'k  (B) la;a= dh [kjhnkjh  

(C) ,dhdj.k  (D) buesa ls lHkh  

The objective(s) of issue of debentures is/are: 

(A) Investment in a new project    (B)    Purchase of machinery 

(C)   Integration          (D)   All of these 

70. Lo;a ds _.ki=ksa ds jí gksus ls gksus okyk ykHk gS  

(A) vk;xr ykHk  (B) iwa¡thxr ykHk  
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(C) lapkyu ykHk  (D) O;kikfjd ykHk  

Profit on cancellation of own debenture is: 

(A) Revenue profit (B) Capital profit 

(C) Operating profit (D) Trading profit  

71. 'kks/ku dks’k fofu;ksx [kkrk gS 

(A)  vk; (B)  O;; 

(C)  laifÙk (D)  nkf;Ro 

Sinking Fund Investment A/C is an: 

(A)  Income (B) Expenditure 

(C) Asset (D) Liability 

72. ,d daiuh çR;sd ₹100 okys 1000] 12% _.ki=ksa dks 10% çhfe;e ij fuxZfer 

fd;kA blesa 12% D;k n”kkZrk gS\  

(A) ykHkka'k dh nj (B) dj dh nj  

(C) C;kt dh nj  (D) buesa ls dksbZ ugha  

A company issued 1,000 12% debenture of ₹ 100 each at 10% premium. 

What does 12% show in it? 

(A) Rate of dividend (B) Rate of tax 

(C) Rate of interest (D) None of these 

73. _.ki=ksa ds 'kks/ku ij ykHk dks fdl [kkrs esa gLrkarfjr fd;k tkrk gS \ 

(A) iwa¡th lap; [kkrk  (B) flfdax QaM [kkrk  

(C) lkekU; lap; [kkrk  (D) ykHk&gkfu [kkrk 

Profit on redemption of debenture is transferred to which account? 

(A) Capital Reserve A/C (B) Sinking Fund A/C 

(C) General Reserve A/C (D) Profit & Loss A/C 



 

Page 23 of 36 
 

74. daiuh fu;e] 2014 ds vuqlkj 'kks/ku ds iw.kZ _.ki=ksa dh jkf'k dk fdruk çfr'kr 

ls _.k&i=ksa 'kks/ku dks"k dk fuekZ.k djuk gksxk\  

(A) 50%  (B) 25%  

(C) 70%  (D) 100%

According to company Rule, 2014 by which precent a company will have to 

create Debenture Redemption Reserve of the amount of the debenture to be 

redeemed? 

(A) 50%  (B) 25%  

(C) 70%  (D) 100%  

75. _.ki=ksa dh 'kks/ku gsrq foÙk dk lzksr gS  

(A) ykHk  (B)   iwa¡th  

(C) u, _.k i=ksa ds fuxZeu ls çkIr jkf”k (D) buesa ls lHkh  

Source(s) of finance for the redemption of debentures is/are: 

(A) Profit  (B) Capital 
(C)  Amount received from the issue of fresh debenture (D) All of these 

76. lk/kkj.kr;k daiuh dk okf"kZd çfrosnu çdkf'kr fd;k tkrk gS  

(A) foÙkh; o"kZ ds çFke fnu  (B) foÙkh; o"kZ ds vafre fnu  

(C)       ys[kkadu o"kZ ds iwjk gksus ij  (D) mijksä lHkh  

Generally Annual Report of a company is published: 

(A) At first day of financial year 

(B) On the last day of financial year 

(C) On the completion of accounting year 

(D) All of the above 

77. pkyw laifÙk esa dkSu en 'kkfey gksrk gS\ 

(A) isVsaV (B) fofu;ksx  

(C) Lda/k  (D) e'khu  
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Which item is included in current asset? 

(A) Patent (B) Investment 

(C) Stock (D) Machinery  

78. foÙkh; fooj.k çnf'kZr djrs gSa  

(A) ekSfæd lwpuk  (B) xq.kkRed lwpuk  

(C) vekSfæd lwpuk  (D) buesa ls lHkh 

Finance statement disclose(s): 

(A) Monetary Information (B) Qualitative information 

(C) Non-monetary information     (D)   All of these   

79. lkekU; lap; dks vkfFkZd fpëk esa fdl 'kh"kZd ds varxZr fn[kk;k tkrk gS\  

(A) fofo/k O;;  (B) va”k iwa¡th  

(C) lap; ,oa vf/kD;  (D) xSj&pkyw laifÙk 

Under which heading of Balance sheet General Reserve is shown: 

(A) Miscellaneous Expenditure  (B) Share Capital 

(C) Reserve & Surplus (D) Non-current asset 

80. og lap; tks fdlh fo'ks"k mís'; ls cuk;k tkrk gS vkSj tks vkxe ds fo#) çHkkj 

gksrk gS] dgykrk gS  

(A) iwa¡th lap;  (B) lkekU; lap;  

(C) xqIr lap;  (D) fof'k"V lap;  

The reserve which is created for a particular purpose and which is a charge 

against revenue is called: 

(A) Capital Reserve (B) General Reserve 

(C) Secret Reserve (D) Specific Reserve 

81. daiuh vf/kfu;e ds varxZr fuEufyf[kr esa ls dkSu rS;kj djuk vfuok;Z ugha gS\  

(A) ykHk&gkfu fooj.k  (B) fLFkfr&fooj.k  

(C) vads{kdksas dh fjiksVZ  (D) dks’k çokg fooj.k  
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Which of the following is not required to be prepared under the Companies 

Act? 

(A) Statement of profit and loss    (B) Balance sheet 

(C)   Auditor’s Report      (D) Fund Flow statement 

82. vkfFkZd fpV~Bk QeZ dh foÙkh; fLFkfr dh lwpuk çLrqr djrk gS% 

(A) ,d fo'ks"k vof/k ij  (B) fo'ks"k vof/k ds nkSjku  

(C) ,d vof/k ds fy,  (D) buesa ls lHkh  

Balance sheet provides information about the financial position of the firm: 

(A) At a particular period of time  (B)   During special period 

(C)   For a period of time  (D)    All of these  

83. le&foPNssn fcanq ml fcanq dks dgrs gSa tgka¡%  

(A) dqy ykxr dqy fcØh ls vf/kd gks  

(B) dqy ykxr dqy fcØh ls de gks  

(C) dqy ykxr dqy fcØh ls vk/kh gks  

(D) dqy ykxr dqy fcØh ds cjkcj gks  

Break-even-point refers to that point where: 

(A) Total cost are more than the total sales 

(B) Total cost are less than the total sales 

(C) Total cost are half  of the total sales 

(D) Total cost are equal to total sales 

 

84. foÙkh; fooj.kksa ds fuoZpu esa 'kkfey gS  

(A) vkykspuk ,oa fo'ys"k.k  (B) rqyuk ,oa ço`fÙk v/;;u  

(C) fu"d"kZ fudkyuk  (D) buesa ls lHkh  

Interpretation of financial statement includes: 
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(A) Criticism and analysis   (B)    Comparison and trend study  

(C)   Drawing conclusion   (D)   All of these 

85. vk; fooj.k D;k n'kkZrk gS\ 

(A) [kkrsa ds iqLrdksa dh 'kq)rk  (B) ,d fuf'pr vof/k dk 

ykHk vFkok gkfu 

(C) jksdM+ cgh dk 'ks"k  (D) buesa ls dksbZ ugha  

What is shown by the Income statement? 

(A) Accuracy of books of 

accounts 

(B) Profit and loss for a 

certain period 

(C) Balance of cash book (D) None of these 

86. foÙkh; fooj.kksa ds fo'ys"k.k esa 'kkfey gksrk gS  

(A) O;kikfjd [kkrk  (B) ykHk&gkfu fooj.k 

(C) vkfFkZd fpV~Bk (D) mijksä lHkh 

Analysis of financial statement involves: 

(A) Trading A/C    (B) Profit and loss statement 

(C)  Balance Sheet   (D) All of the above 

87. {kSfrt fo'ys"k.k tkuk tkrk gS%  

(A) xfr'khy fo'ys"k.k  (B) lajpukRed fo'ys"k.k  

(C) LFkSfrd fo'ys"k.k  (D) buesa ls dksbZ ugha  

Horizontal analysis is also known as: 

(A) Dynamic Analysis (B) Structural Analysis 

(C) Static Analysis (D) None of there 

88. ,d va”k/kkjh }kjk foÙkh; fooj.kksa dh fo'ys"k.k dk mnkgj.k gS% 

(A) cká fo'ys"k.k dk  (B) vkarfjd fo'ys"k.k dk  

(C) yacor~ fo'ys"k.k dk  (D) {kSfrt fo'ys"k.k dk  



 

Page 27 of 36 
 

The analysis of financial statement by a shareholder is an example of : 

(A) External Analysis  (B) Internal Analysis 

(C) Vertical Analysis (D) Horizontal Analysis 

89. ;fn ,d QeZ dh dqy laifÙk;k¡ ₹10, 00,000 gS vkSj xSj pkyw laifÙk;k¡     

₹6, 00,000 gksa rks pkyw laifÙk;k¡ dqy laifÙk;ksa dk fdruk çfr'kr gksxk\  

(A) 60% (B) 50% 

(C) 40% (D) 80% 

If total asset of a firm are ₹10,00,000 and its non-current assets are ₹ 
6,00,000, what will be the percentage of non-current assets to the total 
assets? 

(A) 60% (B) 50% 

(C) 40% (D) 80% 

90. rqyukRed foÙkh; fo'ys"k.k izfØ;k fdl fooj.k ds enksa ds chp rqyuk dks  

n'kkZrh gS\  

(A) vkfFkZd fpëk  (B) ykHk&gkfu fooj.k  

(C) (A) rFkk (B) nksuksa  (D) buesa ls dksbZ ugha  

Comparative financial analysis process shows the comparison between the 

items of which statement? 

(A) Balance sheet      (B)  Profit and Loss statement  

(C)          Both (A) and (B) (D)  None of these  

91. dk;Z'khy iwa¡th gS  

(A) jksdM+ rFkk cSad “ks’k   

(B) pkyw laifÙk;ksa ,oa pkyw nkf;Roksa esa varj  

(C) cSad ls yh xbZ m/kkjh  

(D) pkyw laifÙk;ksa ,oa LFkkbZ laifÙk;ksa esa varj 

Working capital is the: 
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(A) Cash and bank balance  

(B) Difference between current assets and current liabilities 

(C) Capital borrowed from bank  

(D) Difference between current asset and fixed assets 

92. fuEu esa ls dkSu xSj lapkyu O;; gS\  

(A) fdjk;k  (B) fcØh O;; 

(C) etnwjh  (D) e'khujh dh fcØh ij gkfu  

Which of the following is non-operating expense? 

(A) Rent (B)  Selling expense 

(C)  Wages           (D) Loss on sale of machinery 

93. ykHknk;drk vuqikr dks lkekU;r% O;ä fd;k tkrk gS%  

(A) lk/kkj.k vuqikr esa (B) çfr'kr esa  

(C) xquk esa  (D) buesa ls dksbZ ugha 

Profitability ratios are generally expressed in : 

(A) Simple Ratio (B) Percentage  

(C) Times  (D) None of these  

94. LFkkbZ laifÙk;ksa esa 'kkfey gksrk gS% 

(A) jksdM+  (B) e'khujh  

(C) nsunkj  (D) iwoZnÙk O;;  

The term fixed asset includes: 

(A) Cash (B) Machinery 

(C) Debtors (D) Prepaid expense 

95. fuEu esa ls dkSu ysu&nsu pkyw vuqikr esa lq/kkj yk,xk\ 

(A) eky dk udn Ø;  (B) xzkgdksa ls jksdM+ çkIr  

(C) ysunkj dks Hkqxrku  (D) eky dk m/kkj Ø; 
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Which of the following transaction will improve the current ratio? 

(A) Purchase of goods for Cash 

(B) Cash received from customer 

(C) Payment of creditor  

(D) Credit purchase of goods 

96. LV‚d vkorZu vuqikr ds varxZr vkrk gS  

(A) rjyrk vuqikr  (B) ykHknk;drk vuqikr  

(C) fu"iknu vuqikr  (D) buesa ls dksbZ ugha  

Stock turnover ratio comes under: 

(A) Liquidity ratio (B) Profitability ratio 

(C) Performance ratio (D) None of these 

97. jksdM+ çokg fooj.k cukuk gS  

(A)  vfuok;Z  (B) ijke”kkZRed  

(C) daiuh vf/kfu;e ds varxZr okafNr  (D)        buesa ls dksbZ ugha  

Preparation of Cash Flow Statement is: 

(A) Compulsory  (B) Recommendatory 

(C) Required under the Companies Act  (D)      None of these  

98. jksdM+ çokg fooj.k lacaf/kr gS  

(A)  , . ,l.&3 (B) , . ,l.&6 

(C) , . ,l.&9 (D) , . ,l.&12 

Cash Flow Statement is related to: 

(A) A.S.-3 (B) A.S.-6 

(C) A.S.-9 (D) A.S.12 

99. deZpkfj;ksa dks udn Hkqxrku ls jksdM+ izokg gS%  

(A) lapkyu fØ;kvkas  (B) fuos'kh; fØ;kvksa   

(C) foÙkh; fØ;kvksa   (D) mijksä lHkh  
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Cash payment to employees is a cash flow from: 

(A) Operating Activities  (B) Investing Activities 

(C) Financing Activities (D) All of the above 

100. IykaV ,oa e'khujh ds Ø; ds çfrQy esa va'kksa dk fuxZeu gS  

(A) jksdM+ dk varokZg  (B) jksdM dk cfgokZg  

(C) u rks (A) vkSj u (B)  (D) mijksä lHkh  

Issue of shares in consideration of purchase of plant and machinery result 

into  

(A) Inflow of Cash (B) Out flow of Cash 

(C) Neither (A) or nor (B) (D) All of the above  

[k.M&c @ SECTION-B  

y?kq mÙkjh; ç'u@ Short Answer Type Questions 

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSA buesa ls fdUgh 15 ç'uksa ds mÙkj 

nsaA çR;sd ç'u ds fy, 2 vad fu/kkZfjr gSA    𝟏𝟓 × 𝟐 = 𝟑𝟎 

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. 

Each question carries 2 marks.      15 × 2 = 30 

1. olh;r D;k gS \          2 

What is legacy? 

2. vykHkdkjh laLFkkvksa ds pkj mnkgj.k nsa A      2 

Give four example of not-for-profit organisation.  

3. LFkkbZ iwa¡th vkSj ifjorZu'khy iwa¡th esa varj djsaA      2 

Distinguish between fixed capital and fluctuating capital. 

4. ykHk gkfu lek;kstu [kkrk ds ØsfMV i{k esa fy[ks tkus okys fdUgha rhu enksa  

dks fy[ksaA          2 
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Write any three items written in credit side of proϐit and loss 

appropriation account. 

5. vf/kykHk D;k gS \         2 

What is super profit? 

6. lk>snkjh QeZ dh iquxZBu ls D;k vk'k; gS\     2 

What is meant by reconstitution of partnership firm?  

7. R;kx djus okys lk>snkj ls D;k vk'k; gS\      2 

What is meant by sacrificing partner ? 

8. lafpr gkfu ls vki D;k le>rs gSa\      2 

  What do you understand by accumulated loss?     

9. lkekU; lap; D;k gS \        2 

What is general reserve? 

10. ykHk&çkfIr vuqikr dh x.kuk D;ksa dh tkrh gS \    2 

Why gaining ratio is calculated? 

11. lefiZr ewY; D;k gS \        2 

What is surrender value?   

12. lk>snkj dh e`R;q ds le; fo|eku [;kfr ds fy, D;k jkstukepk çfof"V  

dh tk,xh \          2 

What journal entry will be recorded for the available goodwill on the 

death of a partner? 

13. lk>snkjh ds lekiu vkSj QeZ ds lekiu esa varj crk;sa A   2 

Distinguish between dissolution of partnership and dissolution of firm. 

14. olwyh [kkrk cukus ds nks mís'; crk;saA       2 

State two objectives of the preparation of Realisation Account. 

15.  va'kksa ds fofHkUu çdkj crk;sa A       2 

State the different types of shares. 

16. va'kksa dk iqu% fuxZeu D;k gS\       2 

What is re-issue of shares? 
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17. daiuh dh dksbZ pkj fo'ks"krk crk;sa A      2 

State any four characteristics of a company. 

18. v”kks/; _.ki= D;k gS\        2 

What is irredeemable debenture? 

19. okgd _.ki= D;k gS\        2 

What is bearer debenture? 

20. _.ki=ksa dk ifjorZu }kjk 'kks/ku dk D;k vk'k; gS\    2 

What is meant by Redemption of debenture by conversion?  

21. foÙkh; fooj.kksa ds pkj rRo ds uke crk;sa A     2 

Name four element of financial statement. 

22. ykHk gkfu fooj.k D;k gS\        2 

What is the statement of profit and loss? 

23. Åijh fn[kkoV dSls foÙkh; fooj.kksa ds fo'ys"k.k dh ,d lhek gS\  2 

How is window dressing a limitation of ϐinancial statement analysis? 

24. nsunkj vkorZ vuqikr D;k gS\        2 

What is debtor turnover ratio? 

25. çfr va'k vk; D;k gS\         2 

What is earning per share? 

26. LokfeRo vuqikr D;k gksrk gS\        2 

What is proprietary ratio? 

27. vkxe çkfIr;ksa ds pkj mnkgj.k nsaA       2 

Give four example of Revenue Receipt. 

28. pwgk [;kfr dk D;k vFkZ gS\        2 

What is the meaning of rat goodwill? 

29. çLrkfor ykHkka'k ls D;k le>rs gSa\      2 

What do you understand by proposed dividend?  

30. jksdM+ izokg dc mRiUu gksrk gS\        2 

When does a cash flow arise?    
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nh?kZ mÙkjh; ç'u / Long Answer Type Questions 

ç'u la[;k 31 ls 38 nh?kZ mÙkjh; ç'u gSA buesa ls fdUgha 4 ç'uksa ds mÙkj nssaA 

çR;sd ç'u ds fy, 5 vad fu/kkZfjr gSaA        𝟒 × 𝟓 = 𝟐𝟎 

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. 

Each question carries 5 marks.     𝟒 × 𝟓 = 𝟐𝟎 

31. [;kfr D;k gS\ [;kfr dh x.kuk dh fofHkUu fof/k;ka s dk o.kZu djsaA         5 

What is goodwill? Explain the different methods of calculating goodwill.  

32. QeZ ds fo?kVu ls D;k vk'k; gS\ QeZ ds fo?kVu ds le; dh tkus okyh 

çfof"V;ka fn[kk;sa A                 5 

What do you mean by Dissolution of firm? Show the journal entries made 

at the time of dissolution of a firm. 

33. _.ki= dk D;k vk'k; gS\ _.ki= dh eq[; fo'ks"krk,¡ crk;sa A         5 

What is the meaning of debenture? State main features of debenture. 

34. foÙkh; fooj.k ls D;k vk”k; gS\ bldh lhekvksa dk o.kZu djsaA          5 

What is meant by financial statement? Explain its limitations. 

35. fuEu lwpukvksa ls pUns ls vk; Kkr dhft, vkSj fpëk ¼fLFkfr fooj.k½ esa 

O;ogkj Hkh fn[kkb,A                   5 

₹ 

(i) o"kZ ds nkSjku çkIr pUnsa   20]000  

(ii) çkjafHkd cdk;k pank   4]000  

(iii) vafre cdk;k pank    8]000  

(iv) çkjafHkd vfxze çkIr pank   6]000  

(v) vafre vfxze çkIr pank   4]000 

Find out income from subscription and also show the treatment in 

Balance sheet: 

                  ₹ 
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(i) Subscription received during the year:  20,000 

(ii) Subscription outstanding (Opening)  4,000 

(iii) Subscription outstanding (Closing)  8,000 

(iv) Subscription received in Advance (Opening) 6,000 

(v) Subscription received in Advance (Closing)  4,000 

36.  Z fyfeVsM us iz'kkUr }kjk /kkfjr ₹10 okys iw.kZr% ;kfpr 400 va'kksa dk] ftUgsa 

₹ 2 çfr va'k vf/kewY; ij fuxZfer fd;k x;k Fkk] gj.k fd;kA iz'kkUr us ₹ 3 

vkosnu ij pqdk,A og vkoaVu ij ₹5 ¼ vf/kewY; lfgr½] ₹2.5 çFke ;kpuk ij 

vkSj ₹1.5  vafre ;kpuk ij Hkqxrku ugha dj ldk A bu va”kksa dks Jh eqds'k dks 

₹9 çfr va'k esa iqu% fuxZfer fd;k x;kA va'kksa ds gj.k ,oa iqu% fuZxeu ds fy, 

jkstukepk çfof’V;k¡  nsaA              5  

Z Ltd. Forfeited 400 shares of ₹ 10 each fully called up, held by Prashant, 

issued at a premium of ₹ 2 per share. Prashant Paid ₹ 3 on application. He 

could not pay ₹ 5 (including premium) on allotment, ₹ 2.5 on first call 

and ₹ 1.5 final call. These shares were re-issued to Shri Mukesh for ₹ 9 

per shares. Given the journal entries for forfeiture and re-issue of shares.     

37. fuEufyf[kr lwpukvksa ls LokfeRo vuqikr dh x.kuk djsaA           5 

        ₹ 

(i) nh/kZdkyhu _.k   2,00,000 

(ii) nh/kZdkyhu vk;kstu   1,00,000 

(iii) pkyw nkf;Ro      50,000  

(iv) vpy ifjlaifÙk;k¡    3,60,00 

(v) pkyw ifjlaifÙk;k¡    90,000 

From the following informations compute Proprietary Ratio: 

₹ 

(i) Long-term borrowing   2,00,000 
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(ii) Long-term provision   1,00,000 

(iii) Current Liabilities      50,000  

(iv) Non-current Assets   3,60,000 

(v) Current Assets       90,000 

38. fLFkfr fooj.k lkekU; fuEufyf[kr m)j.kksa ls foÙkh; fØ;kvksa ls jksdM+ izokg Kkr djsa%  5 

 fLFkfr&fooj.k 

(31-12-2022 rd dk m)j.k) 

lerk ,oa ns;rk,¡ 

 

 

  jde 

(2021) 

    ₹ 

   jde 

(2022) 

    ₹ 

      laifŸk;k¡ 

 

 

  jde 

(2021) 

    ₹ 

  jde 

(2022) 

    ₹ 

lerk va”k iw¡th  

 

8% iwokZf/kdkj va”k 

 

6% _.ki=   

 

izfrHkwfr  

vf/kewY; 

(izhfe;e)  

2,00,000 

 

1,00,000 

 

80,000 

 

_____ 

3,00,000 

 

50,000 

 

1,50,000 

 

10,000 

_.ki=ksa ij 

cV~Vk 

 

 

 

 

va”kksa ij 

vfHkxksiu 

deh”ku 

      

8,000 

 

 

 

 

_____ 

 

 

15,000 

 

 

 

 

 

3,000 

       vfrfjä lwpuk,¡% 

(i) lerk va'kksa dks 2022 ds var esa 10 % vf/kewY; ¼çhfe;e½ ij fuxZr fd;k x;kA 

(ii) _.ki=ksa dks o"kZ ds çkjaHk esa 10 % dVkSrh ij fuxZr fd;k x;kA 

(iii) iwokZf/kdkj va'kksa ij 8 % dh nj ls ykHkka'k fn;k x;k A 

(iv) _.ki=ksa ij C;kt fn;k x;k gSA 

From the following extract of Balance sheet, Find out cash flow from 

financing activities 
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Balance Sheet 

(Extract as on 31-12-2022) 

Equity & 

Liabilities 

 

Amount 

(2021) 

    ₹ 

  Amount 

(2022) 

    ₹ 

      Assets 

 

 

 Amount 

(2021) 

    ₹ 

Amount 

(2022) 

    ₹ 

Equity Share  

Capital  

 

8% Preference 

Share  

 

6% Debenture  

 

Securities 

Premium 

2,00,000 

 

 

 

1,00,000 

 

80,000 

 

_____ 

3,00,000 

 

 

 

50,000 

 

1,50,000 

 

10,000 

Discount on 

Debentures 

 

 

Underwriting 

commission 

on shares 

      

8,000 

 

 

 

 

_____ 

 

 

15,000 

 

 

 

 

 

3,000 

 Additional information: 

(i) Equity shares were issued at the end of 2022 at 10% premium. 

(ii) Debentures were issued at 10% discount in the beginning of 

the year. 

(iii) Preference shares were paid dividend @ 8%. 

(iv) Interest on debentures is paid. 


